Assembly
Instruction

pper

racketu

u-b

base

Q
il
)
r O
(A 3

Diagram “A”

FrontView

0 Insert adjustable glider into base.

u-bracket upper

seater beam

e Slot u-bracket upper & base into the seater beam and tighten with M10 X 55 allen cap screw.

a

seat pad
T
!
I ! |
|
|
|

| |

@ ! l

u u-bracket lower T
M10x70allen cap screw

G Slot seat pad and u-bracket lower into
seater beam (following measurement given)
and tighten with M10 X 70 allen cap screw.

Change or add-in armrests after completed chair:

armrest

unscrew &
remove

|
ﬂﬂ u-bracket lower g
M10 x 70 allen cap screw

0 Change u-bracket upper to armrest
Unscrew & remove the u-bracket upper. Replace by
armrest & tighten by using M10 X 55 allen cap screw.

Add armrest in between seat

Slot armrest and u-barcket lower into the seater beam
(adjust the armrest so that it is at the center of 2 seat
shell) and tighten with M10 X 70 allen cap screw.

MEHR
F l . f
Models: 557 B1/ B2 / B3 / B4 / B6 A00 J
2seater=1179mm
57 75 57
i LS k
il £ 1 2
3 seater=1749mm
57 75 A 57
i =k L I
il £ 1 £ 1 g
4 seater=2319mm
52 J3 2 3 31
i LS LS LS 3
g M 3 St & 8 F
6 seater =3459mm
52 g3 e 3 FEN 3 31
i LS LS LS LS LS 3
1713mm
\
= == == FINEL ==l =gy =
i i

A



	Page 1

